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206 = Hl 21,000 21,000 0
01 M2 4l 21,000 21,000 0
O AMEllsd neZzd(4e) Mg 2
1,000,000 = 63l 6,000
O AMElls neZz08(02o0l) g #¢
1,000,000& = 123 12,000
O Algil=2 JI8dAl MEZ ME 2
3,000,000 = 13l 3,000
301 et a3z 58,400 60,900 A 2,500
09 &AL HI B &S 40,400 42,900 A 2,500
O AME0ls2 JIE™A ZDHAHI
7,000,000& =+ 33l 21,000
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2 S0z AE A
HzM: ZAHEMAMNS HE
2 Alg0lsd 89 9 22 (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O AME0lsa2 HeloluszZ=2 O 2 A
100,000 * 243 2,400
O AME0s=2 HelolusZ )d 2 X2 AH|
50,000 * 2% x 243| 2,400
O AlEilzs2 do2% E2H| 4,600
— SHIIEZ 2 AHH] 500,000& = 23] = 1H 1,000
— HIIEL 2 A 300,000& * 43| * 3H 3,600
O JI&8d TEE(HSl&A) AR
1,500,000& = 53] 7,500
O JI&gd = &I &0 2,500,000& = 13 2,500
12 JIEtE A= 18,000 18,000 0
O JI&8EA ZHEXZ0I(Z2ALX) A H
20,0008 ~ 6Y = 150 18,000
NEF=CE 3Edxel Mg (0ls2 2¢ Y 0lE 36,800 0 36,800
S4)
= 14,000
& 4,200
Al 18,600
101 2121 ] 36,800 0 36,800
= 14,000
& 4,200
Al 18,600
04 JIZtHIZ22XNSE S 36,800 0 36,800
O Ol 34 RAUOH 4 XA
36,800,000 36,800
= 14,000
= 4,200
Al 18,600
HEMSHAY (23U S AISA) 35,166 0 35,166
JlE&dl 35, 166 0 35,166
Jl2 &4l 35,166 0 35,166
201 Bt 49d]| 14,606 0 14,606
01 AP 22| H| 14,606 0 14,606
O 230 =sAIS A JI2AR 22l
14,606,000 14,606
202 o4 | 13,260 0 13,260
01 2Ll 13,260 0 13,260
O 23=sAgA J29e =&
13,260,000& 13,260
203 & 2 =&H| 6,100 0 6,100
02 AAAJMALH 2= XY 1,240 0 1,240
O A2 40,0008 = 31 1,240
04 EASHEIRFAH| 4,860 0 4,860
O ENSIEYR F&H| 4,860,000 4,860
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